
 

 

WTA-FAAB 

Wedgetail Accessory Fiamma Awning Bracket 

Fitting Instruction 

WTA-FABB_Fitting_Rev1 Updated  

Updated: 20 SEP 2024 
COPYRIGHT TRADESMAN ROOF RACKS |WEDGETAILRACK.COM.AU 

Congratulations on the purchase of your Australian made Wedgetail Roof Rack product. 

Please read and follow the instructions carefully to ensure correct fitment. 

Contact us if any parts appear missing, incorrect, or damaged. 

Contact us if any question about the size of platform to ensure the correct fitment 

Tools Required: 

 

x1 

 2 
WTA-SJL Jimny Door Bracket 

x3 

M8X20 Sems Black 
 3 

x1 

WTA-SJL Jimny Main Ladder 
 1 

x3 

M8 Channel Nut 
 4 

Kit Content 

• Hex key (5mm)     • Spanner (10mm) 



 

 

WTA-FAAB 

Wedgetail Accessory Fiamma Awning Bracket 

Fitting Instruction 

WTA-FABB_Fitting_Rev1 Updated  

Updated: 20 SEP 2024 
COPYRIGHT TRADESMAN ROOF RACKS |WEDGETAILRACK.COM.AU 

 

 

• Shorten the cup bolts that come with the Fiamma awning to 17mm long this allows the awning 

to sit 15mm off the side of the rack) 1 

 

3 
• Remove the lower bolts on the underside of the rack where you would 

like to mount the awning brackets, leaving the channel nut in the channel  

• Loosely bolt Fiamma brackets to the 

upper awning bracket and lower 

awning bracket using the Fiamma 

shortened M6 Cup bolt and M6 nuts 

supplied in the Fiamma mounting 

kit.  

• Only have the nuts on a couple of 

threads as this will allow for the next 

step. 

2 

 

4 
• Slide the awning brackets onto the rack 

• At top of rack place M8 channel nut in channel and using the black 

M8 bolt supplied loosely bolt together securing the top of the 



 

 

WTA-FAAB 

Wedgetail Accessory Fiamma Awning Bracket 

Fitting Instruction 

WTA-FABB_Fitting_Rev1 Updated  

Updated: 20 SEP 2024 
COPYRIGHT TRADESMAN ROOF RACKS |WEDGETAILRACK.COM.AU 

 

 
• Re install black M8 bolt through the lower 

bracket and into the channel nut left in place in 

step 3 

5 

 

• Now you can tighten the M6 nuts holding all 3 parts of the bracket together. You will need to 

use an open-ended spanner and come in from the side. 6 

7 
• Now tighten all upper and lower M8 bolts holding the brackets to the rack. 

Thank you for your purchase.  

Wedgetail by Tradesman Roof Racks  

Innovation through Inspiration 

NOTE-Ensure the channel nuts are 90 degrees to the channels. 

Check fastenings are firmly tensioned at regular intervals. 

Do not overtighten, this will preserve the spring washers. ! 


